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i 100kN/mM%Z#B% % -l -~ = -|3m%E#EZ S -~ = = -| 100kN/ Mm%z % = = ~ = —-|3m%Ei#B2 5 . ~ - - -
ZNLUS 1.00/ 000 ~ 457 57.02| #hbLis [0.00 ~ 457| 1.89 9.91 LS 1.00 500 ~ 500 57.02] #hils | 500 ~ 500] 1.89 9.91
5 100kN/mM%Z#B% % 1.00/0.00 ~ 0.06 100.86(3mZ#BRSH| - ~ = - -| 100kN/mM%#B 2% 1.00| 15.60 ~ 15.85 100.86[3m%#EZ 5% ad ~ - - -
Zh Lot 1.00/ 006 ~ 7.84 100.00f #hlist | 000 ~ 7.84] 295 15.46 ZHLS 1.00f 500 ~ 15.60 100.00] Z4#LLl4t | 500 ~ 15.85| 2.95 15.46
3 100kN/mM#Z#BZ % 1.00/0.00 ~ 1.56 123.82|3mZ#BRBH| - ~ = = -| 100kN/M%i#8 % % 1.00( 11.16 ~ 16.49 123.82|3m%E#BZ% o ~ = = =
Zh st 100|156 ~ 935 100.00| #hlust | 000 ~ 9.35| 258 13.52 ZHLS 1.00f 500 ~ 11.16 100.00] Zx kst | 500 ~ 16.49| 2.58 13.52
4 100kN/mM%Z#B% % 1.00[000 ~ 1.12 116.88[3mZ#BZRBH| - ~ = = -| 100kN/ %82 % 1.00| 1240 ~ 16.43 116.88|3m%#BZ 5 o ~ = = =
Zh st 100|112 ~ 890 100.00f #hlu4t | 000 ~ 8.90f 273 14.32 ZHLS 1.00| 500 ~ 1240 100.00] Zx kst | 500 ~ 1643 2.73 14.32
5 100kN/mM#Z#B% % 1.00/0.00 ~ 0.09 101.38[3mZ#BZRBH| - ~ = = ~| 100kN/ %82 % 1.00| 15.33 ~ 15.72 101.38|3m%#BZ % o ~ = = =
Zh st 1.00/ 009 ~ 7.88 100.00| #hlist | 000 ~ 7.88] 293 15.39 ZHLS 1.00f 500 ~ 1533 100.00] Zx kst | 500 ~ 15.72f 2.93 15.39
6 100kN/mM#Z#BZ % 1.00[000 ~ 219 134.04(3mZE#BRD| - ~ = = -| 100kN/M%i#8 % % 1.00{ 11.15 ~ 19.72 134.04|3m%#BZ 5 o ~ = = =
Zh st 1.00/219 ~ 998 100.00| #hlust | 000 ~ 998 258 13.51 ZHLS 1.00f 500 ~ 11.15 100.00] Zx kst | 500 ~ 19.72f 2.58 13.51
7 100kN/mM%Z#B% % 1.00/0.00 ~ 207 132.11|3mZ#BRD| - ~ = = -| 100kN/ %82 % 1.00( 11.50 ~ 19.70 132.11|3m%#B %5 o ~ = = =
ZnLs 1.00]2.07 ~ 9.86 100.00f ZH1List | 000 ~ 9.86| 2.63 13.79 znLst 1.00f 500 ~ 11.50 100.00f #h Ll | 5.00 ~ 19.70f 2.63 13.79
8 100kN/m#%#BZ % 1.00/0.00 ~ 241 137.65|3m%EB %% a ~ = = -| 100kN/mM%E#Z% 1.00| 10.64 ~ 20.35 137.65|3m%EHE %% = ~ = = =
ZnLs 1.00]2.41 ~ 10.19 100.00f ZH1List | 0.00 ~ 10.19] 2.80 14.70 znLst 1.00f 500 ~ 10.64 100.00f #h it | 5.00 ~ 20.35| 2.80 14.70
9 100kN/m#%#BZ % 1.00|0.00 ~ 044 106.45|3m%E{B % % a ~ = = -| 100kN/mM%E#Z% 1.00] 10.87 ~ 1221 106.45|3m%EHE %% =~ = = =
ZnLs 1.00{044 ~ 822 100.00f Zh1List | 000 ~ 8.22| 2.07 10.85 znLst 1.00f 500 ~ 10.87 100.00] Zhdst | 5.00 ~ 1221 2.07 10.85
10 100kN/m#%#BZ % 1.00/0.00 ~ 0.95 114.26|3m%EB %% a ~ = = -| 100kN/mM%E#Z% 1.00| 10.63 ~ 13.43 114.26|3m%EHE %% = ~ = = =
ZnLs 1.00/095 ~ 8.74 100.00f Z1List | 000 ~ 8.74| 2.26 11.85 znLst 1.00f 500 ~ 10.63 100.00f Zh Ll | 5.00 ~ 13.43| 2.26 11.85
11 100kN/m#%#BZ % 1.00|0.00 ~ 094 114.05|3m%B %% a ~ = = -| 100kN/mM%E#Z% 1.00( 10.58 ~ 13.50 114.05(3m%EHE %% = ~ = = =
ZnLs 1.00{094 ~ 8.72 100.00f Z1List | 000 ~ 8.72| 2.14 11.20 znLst 1.00f 500 ~ 10.58 100.00] Zh x4t | 5.00 ~ 1350 2.14 11.20
12 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00{0.00 ~ 6.34 79.66] £ L4t 1000 ~ 6.34] 1.97 10.34 ZznLst 1.00f 500 ~ 824 79.66] Zn st | 500 ~ 824 1.97 10.34
13 100kN/m#%#BZ % -l -~ = —-|3mZEEZD -~ = = —| 100kN/M%# x5 = -~ = —-|3m%EiBAS -~ = = =
s 1.00{0.00 ~ 469 58.46| ZnLls |0.00 ~ 469| 1.83 9.59 ZznLst 1.00f 500 ~ 5.00 58.46| ZnLis | 500 ~ 500 1.83 9.59
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ Fhn st ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZHN LS ~ ZThLLSE ~ FHLSE ~ T IO0)) ~
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